Text Alignment

This text is left aligned.

This text has been centred.

This is right aligned.

It is also possible to use different alignment for paragraphs.  This paragraph is an example of using left alignment.  This means that the text is aligned with the left margin, so the left side is completely straight or justified.  However, the right margin is not straight; this is called unjustified or ragged. 

This paragraph has been centred, which means that neither the left margin or the right margin are straight, the text has been aligned from the centre of the page, with each line being equal distance from the left and right margins.

This is an example of using right alignment.  As you can see, the text has been aligned with the right margin, so the right margin is straight, or justified.  The left margin is unjustified, or ragged.  This is the opposite of left alignment.

The alignment used in this paragraph is justified (sometimes this is called fully justified).  This means that both the left and right margins are straight.  You will notice that some of the spaces in between the words are larger than others.  This is because some lines of text contain more letters, or characters, than others so they have to be spread out across each line to ensure that both margins are kept even.  However, the last line of a paragraph is not aligned as there may only be a couple of words on the last line - it would look rather odd if it were stretched across to align with the right margin! 

